== A
N = 0 & AF S 99 N A
20218 = 20l A LBFSH M A
EXN: BHPIMA
H: =2 BAHOZ MHIA M2
chel: E2oZ oA 2% CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
H AR AMA 48,510,109 48,531, 107 A 20,998
= 10,095,551
g 14,501
Jl 28,422,197
= 9,977,860
=2 BHAS AMHHIA M2 43,961,540 43,442,540 519,000
= 7,820,032
Jl 28,402,776
& 7,738,732
BAHo2 o= = 7,544,394 9,336,335 AN 1,791,941
= 4,850,638
J| 975,906
o 1,717,850
BAEM EE U =X 33,580 46,400 A 12,820
201 et | 24,780 35,400 A 10,620
01 AR 22l ] 24,780 35,400 A 10,620
OEAYH IS (LAY3I) 14,000
OBAHAE NGB AN2NR 3,500
OBAHAEM 2H ]G 29 & ¢ 3,500
OBHAIY SZXH(2I2tQ1) &I M= 3,780
202 o4l 8,800 11,000 A 2,200
01 2Ll 8,800 11,000 A2,200
OBAHE HRFA 8,800
BAHI2 M2o =0l 24N 18,200 26,000 ANT7,800
201 et | 18,200 26,000 AT7,800
01 AR 22l ] 18,200 26,000 NT7,800
OZ2ZTEHYA 2= 18,200
SHEEBHA S 0|HAIF(Z2D) 4,348,028 4,759,038 A411,010
= 3,478,416
== 869,612
403 XX SHHS K20 & 4,348,028 4,759,038 A411,010
= 3,478,416
= 869,612
01 XS A2E X 4,348,028 4,759,038 A411,010
OsHEBAHA S 0T ASAIY 4,348,028
= 3,478,416
= 869,612
HAMBT/AMYH S=(=21) 1,176,827 2,382,360 A 1,205,533
J| 975,906
& 200,921
403 XX SHHS K20 & 1,176,827 2,382,360 A 1,205,533
J| 975,906
& 200,921




EXN: BHPIMA
HHM: =2 BAHOYZMHIA M2
Cel: B0 QEa 2& (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 XIS A2 X 1,176,827 2,382,360 A 1,205,533
OHLMEXAMEH &= 1,176,827
J| 975,906
o= 200,921
O 2FAA FAEKN 29 266,550 303,000 N 36,450
201 2Et2Hy| 122,550 123,000 AN 450
01 AP 2t 2] H| 2,550 3,000 AN 450
OJAZXNSAIAE X2 829 X2 2,550
02 324 H| 120,000 120,000 0
O|AANSAIAEH SN2 224 120,000
307 giztol A 144,000 180,000 A 36,000
05 QIZtRES 144,000 180,000 A 36,000
OsSgA22e|dH 24 144,000
BAAZ A Lol 65,814 94,020 N 28,206
308 ANXISHMSOIA 65,814 77,410 A 11,596
01 HXHHIMNEEXTZ 65,814 77,410 A 11,596
okolddZzNad 2AY| 65,814
QIEH S ST 76,698 79,800 N3,102
308 AHXIEHSOIA 76,698 79,800 N 3,102
01 AIXSHMENEX= 76,698 79,800 N3,102
OBAHAXN A HAT2 ) 2AHH| 76,698
Ol2F X S XS AEAIE(Z21D) 1,353,747 1,369, 117 A 15,370
= 1,353,747
308 XHXIEHSOIA 1,353,747 1,369, 117 A 15,370
= 1,353,747
01 AIXISHHEMNEX= 1,353,747 1,369, 117 A 15,370
o)A gXxI& 94| 1,353,747
= 1,353,747
OI2F AR OZ XA ABAMS(ZD)(ZH) 36,950 36,600 350
= 18,475
& 18,475
307 QI2t0| & 36,950 36,600 350
= 18,475
= 18,475
02 QI2AtAAMAIE E =X 36,950 36,600 350
OZAXIHAE ol 2HH]| 36,950
= 18,475
& 18,475
B9 XS OA K& 168,000 240,000 A 72,000
308 XX SHHSOIH 168,000 240,000 A 72,000
01 AIXSHMENMNEXZ 168,000 240,000 A 72,000




2N
X ZH -
L= B

el

SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2

| | FPREENEELRE 168,000

A2 AMHA M3 10,749,433 10,460, 341 289,092
= 162,000
Dl 8,806,319
& 1,781,114

KA HAZA ZAIEA QE2H(21) 603,603 603,603 0
Jl 603,603

308 AXISHAMSOIH 603,603 603,603 0
Dl 603,603

01 AIXHMBAEXZ 603,603 603,603 0
OXNIAZ HAZEZAL K& 603,603
Il 603,603

NEAMe SSHAASTIAIE(=0)(2H) 198,000 0 198,000
Jl 99,000
o= 99,000

201 Bt A H| 4,000 0 4,000
Jl 2,000
& 2,000

01 AP 2t2l bl 4,000 0 4,000
OXNAANE SSALSIAY 4,000
Jl 2,000
< 2,000

202 04 d| 4,000 0 4,000
Dl 2,000
= 2,000

01 2L Y| 4,000 0 4,000
OXNYGASE SEAHLSEAS 4,000
Dl 2,000
o= 2,000

307 212t0| & 190,000 0 190,000
Jl 95,000
& 95,000

05 A2t E 2 190,000 0 190,000
OSEHHAUSTANXAEt 29 190,000
Dl 95,000
= 95,000

KNAM ESALSTAIE(Z1) 5,217,346 5,198,929 18,417
Dl 4,347,788
= 869,558

308 AXISHXSOoIH 5,217,346 5,198,929 18,417
Il 4,347,788
= 869,558

01 AXHNBMNEXZ 5,217,346 5,198,929 18,417
OBAHA SE§HLSIAIY XA 5,217,346
Dl 4,347,788




2N
X ZH -
L= B

el

=kl
22 2dASAMEA WS
sdAZ el AHA M3

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2

| == 869,558

220X LetAAHR X (21D) 302,221 293,264 8,957
Dl 268,641
== 33,580

308 AXISHXSO0IH 302,221 293,264 8,957
J| 268,641
= 33,580

01 AXHNBMNEXTZ 302,221 293,264 8,957
Oz AKX LEtA LA XH| 302,221
Dl 268,641
& 33,580

OS24 IKOAHZLZE XA (21) 15,206 18,693 N 3,487
Jl 15,206

308 X SHAMSOIA 15,206 18,693 N 3,487
Dl 15,206

01 HXHHNBIMNEXS 15,206 18,693 N 3,487
O9z20 23N R0 A2 ZEH| 15,206
Jl 15,206

ALOF LA UBA AKX (212) 27,740 29,260 N 1,520
Dl 22,192
o= 5,548

301 dBEtE A = 27,740 29,260 A 1,520
Dl 22,192
& 5,548

01 MIEEE 2352 27,740 29,260 AN 1,520
OY9 R0 LEEH A2 A 27,740
Dl 22,192
== 5,548

220X HLBIAMY 2H(=21D) 18,000 18,000 0
Jl 18,000

308 AXISHXSOoIH 18,000 18,000 0
J| 18,000

01 AXHNBIMNEXTZ 18,000 18,000 0
O=J1AL &8 29 L =52 18,000
Dl 18,000

HAXMPURARNSHE 29 (=21) 259,200 245,600 13,600
= 162,000
& 97,200

308 X SHAMSOIHA 259,200 245,600 13,600
= 162,000
== 97,200

01 HXHHNBIMNEXS 259,200 245,600 13,600
OHAEHHURLREZHEH MNE2H X 259,200
= 162,000
= 97,200




N BAAME Y
Hu: AEe 2AABAHA M2
Ce BaA22e MHA M3 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NSEAsEd 2B MEA(FD)(RHEY) 62,000 62,000 0
J| 31,000
< 31,000
201 £B-2d| 60,000 20,000 40,000
J| 30,000
< 30,000
01 At 22/l 60,000 20,000 40,000
O3%AY 28 & 82 60,000
J| 30,000
< 30,000
202 044l 2,000 2,000 0
J| 1,000
< 1,000
01 = LH o4 1l 2,000 2,000 0
O=HAY =& 2,000
J| 1,000
< 1,000
NAAMNSSA 2AXNIAMEBIA(ZD) 3,010,487 3,010,487 0
J| 2,508,739
< 501,748
308 XtXIEHH SOl A 3,010,487 3,010,487 0
J| 2,508,739
< 501,748
01 HXNHHNBHEELS 3,010,487 3,010,487 0
OXgGAE S SHXNJAMEI A 3,010,487
J| 2,508,739
< 501,748
HASE 2HXNZXNE(2) 290,250 291,705 A 1,455
J| 290,250
403 XSS A=0l& 290,250 291,705 A 1,455
J| 290,250
02 S 2SO HEAEE 2 E AL H 290,250 291,705 AN 1,455
ONASE =¢IE ?IF 290,250
J| 290,250
DY EAHHAE (=) 664,680 205,920 458,760
J| 553,900
< 110,780
308 XXM SOIA 664,680 205,920 458,760
J| 553,900
= 110,780
01 XML EES 664,680 205,920 458,760
OZHY AHNAHAEY 664,680
Jl| 553,900
< 110,780
AMEA ALSEHA ASAME(212) 48,000 0 48,000




EXN: BHPIMA
HHM: =2 BAHOYZMHIA M2
Gl maA2ae AUlA HB (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@i HRE2
Pl 48,000
308 XX G SO0l & 48,000 0 48,000
J| 48,000
01 AIKISHHMEMNEXZ 48,000 0 48,000
OAMEH HAUASKHH 2FSAMY 48,000
J| 48,000
MASES & FAXNY F038 st O/SHIXNE P 32,700 0 32,700
[e]]
402 SI2F X201 M 32,700 0 32,700
01 It EANSEXR (MMM A) 32,700 0 32,700
OMASSE 2 HAXY Zolg
& ols&E A 32,700
Ry R
AT A AHALMHAH EE 25,667,713 23,645,864 2,021,849
= 2,807,394
J| 18,620,551
& 4,239,768
HABAHAY =& 126,750 112,380 14,370
202 04| 6,750 7,500 AT750
01 2Ll 6,750 7,500 AT750
OAMTH A HE 2 F=X 6,750
303 ZAZ2 8,400 12,000 A 3,600
01 Za32 8,400 12,000 A 3,600
OXANE ALY A2 EA 8,400
307 2iz2to| & 32,400 23,400 9,000
02 QI AAIE E X 32,400 23,400 9,000
OLRTZAAMAMAUEXHE SAX HR2HA 32,400
308 XAXIGHHM SO0l & 79,200 69,480 9,720
01 IXHHIMNEXZ 79,200 69,480 9,720
OFNBAHAIE SAMXN AR2HH 79,200
ZA™AAASTME KR (Z21D) 861,284 856,570 4,714
J| 430,642
& 430,642
307 212t0| & 861,284 856,570 4,714
J| 430,642
= 430,642
05 QIZ2tEF 2 861,284 856,570 4,714
O&EH HANAHAU=XNHAH 2H 861,284
J| 430,642
& 430,642
IZHAAHALEXNHE XK (21D) 1,989,619 1,970,352 19,267
J| 1,658,016
&< 331,603




A2
I s BAASAMHIA HZB
Ehelr AEOYR ZE2A2HA =Y (&2l &)

SN - EAEA) - MRAL

01
o

Off &t 24

=

M
2Hm
==
£l
Ol
0y

308 XM S0IH

,989,619 1,970,352 19,267

,658,016
331,603

Jl

.

n

01 AXHHBEES

QJI=d ZUAI=XNHEH 2

—_

,989,619 1,970,352 19,267
,989,619

Il ,658,016
= 331,603

—_

=
o
0x
>
ry
0y
I
P}
=
m
e
Jy
I
O
)
kJ

,837,994 1,144,164 693,830

471,122
366,872

Il

—

H

307 21201 A 181,620 0 181,620

Jl 90,810
90,810

H

(@)
nNo
=]
S
oY
0%
>
H
P

181,620 0 181,620

181,620

Jl 90,810
90,810

©
0
>
Y
oy
It w©
pa
[x
m
o
1
Jo
Ot

H

308 XXM S0l ™

—

,656,374 1,144,164 512,210

,380,312
276,062

—

hn X

-
pa]
il
>t
>
HT
P
[t}

,656,374 1,144,164 512,210

,656,374

,380,312
276,062

©
&
o
0x
>
e
0y
i
P}
=
)
e
¥
o
O

Il

—

H

OlsEAYE FUBAMY(S1) 345,141 343,002 2,139
287,617
57,524

mn <

308 MHXIHMSOIH 345,141 343,002 2,139

287,617
57,524

mn <

01 AXSHHBAEES 345,141 343,002 2,139
O0ts - dad FAUEAMNY X 345,141

287,617

57,524

hn X

SxelSEXNFHH XN (=2) 293,441 291,039 2,402
244 533
48,908

H A

308 MHXIEHMSOIH 293,441 291,039 2,402

244 533
48,908

o

01 HXHHBAEES 293,441 291,039 2,402

Os=2cSEXNHEH 29 293,441
244,533
48,908

oy

S=s2cISEXNIHE X2 (XA 30,000 0 30,000




2N
X ZH -
L= B
el

5 - 4
SAH-EB .S (3H) - HEAY - BE2 0 AF o il HD=2
308 AXISHXMSO0IH 30,000 0 30,000
01 AIXHMBAEXZ 30,000 0 30,000
O=S2CISESXNIMME 2 XS (XHA) 30,000
THatolg & HAALASTASG(Z2D) 372,611 372,611 0
Jl 310,509
& 62,102
308 X SHAMSOIA 372,611 372,611 0
Jl 310,509
& 62,102
01 AIXHMBAEXZ 372,611 372,611 0
OXtay & HFANAHLSHAS 372,611
J| 310,509
< 62,102
THaog A% FAALBST(ZD) 32,000 32,000 0
Dl 32,000
307 QI2t0| ™ 32,000 32,000 0
Dl 32,000
02 DIZtBAAMEE X 32,000 32,000 0
OXaNY ARX FAHLSA 32,000
Dl 32,000
Aaog ¥ MHESALY 422,400 528,000 A 105,600
307 212t01 & 120,000 150,000 A 30,000
02 DIZtZAAMEE X 120,000 150,000 A 30,000
OZAX &M HE AFY K& 120,000
308 XX SHAMSOIA 302,400 378,000 AT75,600
01 IHXSHHBAE 302,400 378,000 AT75,600
OXaedy 29 K& 95,200
O X0 e AFgH & dgolza X 207,200
HH 20| At 2el g5 X 168,320 210,040 N41,720
308 AXISHXMSO0IH 168,320 210,040 N41,720
01 AXHNBMNEXTZ 168,320 210,040 N41,720
OMHXZOl Atcll el &8s K& 168,320
e @ dASAHMEHA X (210) 262,950 139,252 123,698
Jl 262,950
308 X SHAMSOIA 262,950 139,252 123,698
Dl 262,950
01 AFXISHA e 262,950 139,252 123,698
OXa =5 JAA8 AMUIA XA 262,950
Jl 262,950
Ao garaogdaeimg AMHMER(22)(HE 69,412 69,412 0
Dl 34,706
= 34,706




2N
X ZH -
L= B
el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

307 glz2tol & 69,412 69,412 0
J| 34,706
< 34,706

05 RIZHRIE 3 69,412 69,412 0
OdLIEg2ZE o2y N 2 69,412
J| 34,706
< 34,706

Hog2aEEuT22lAE XIXHHA (=1) 612,919 585,561 27,358
J| 510,766
< 102,153

308 XtXIEHH SOl A 612,919 585,561 27,358
J| 510,766
< 102,153

01 AXHHILEES 612,919 585,561 27,358
ONgY - &8 SE&cAY 612,919
J| 510,766
< 102,153

B4 DQHEEE M2I 4(=31) 22,050 20,580 1,470
J| 22,050

308 MXIEHSOIH 22,050 20,580 1,470
J| 22,050

01 HXNHHNBHELS 22,050 20,580 1,470
OStd &g 2l & HLXZA 2 WS 22,050
J| 22,050

29 OIENFEA NEIELMH 29(=31) 390,000 390,000 0
J| 195,000
= 195,000

307 glz2tol & 390,000 390,000 0
J| 195,000
= 195,000

05 RIZtR &= 390,000 390,000 0
O&Y OLEIl - A NEIZBHH 29 390,000
J| 195,000
< 195,000

XOoHetadle 2SR (=2D) 10,926,300 10,920,000 6,300
J| 10,406,000
< 520,300

308 XHXI &I S 0 & 10,926,300 10,920,000 6.300
| 10,406,000
< 520,300

01 XML EES 10,926,300 10,920,000 6,300
OXIHetaHEH 2HX2 10,926,300
J| 10,406,000
= 520,300

ESXMC- BSFA XNEAE(21D) 30,637 43,760 A 13,123




2N
X ZH -
L= B
el

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 27,233
< 3,404
308 XX EHHSOIA 30,637 43,760 A 13,123
J| 27,233
< 3,404
01 HIXNHHBNEES 30,637 43,760 A 13,123
OSSN 2354 XF 29 30,637
J| 27,233
< 3,404
EEXNMC SSEFEA NFAL(FGRMME ) (22 6,027 6,030 A3
)
J| 4,219
S 1,808
307 glz2+ol & 6,027 6,030 A3
J| 4,219
< 1,808
02 It HAMHEE 6,027 6,030 A3
OSSXM=e 2354 X 6,027
J| 4,219
= 1,808
Xoix22eldl K& (=2) 1,156,800 999,600 157,200
J| 964,000
< 192,800
308 XXM SOIA 1,156,800 999,600 157,200
J| 964,000
< 192,800
01 IXNSHHBANEES 1,156,800 999,600 157,200
OXIHXIZ2teldl K& 1,156,800
Jl 964,000
< 192,800
ZYUXNMAH 2Z(=21) 619,443 619,443 0
J| 433,610
< 185,833
307 gl2tol & 619,443 619,443 0
J| 433,610
< 185,833
05 BIZHRI & 3 619,443 619,443 0
OZYXMEEH 29 619,443
J| 433,610
< 185,833
FAXMS2E 29 10,560 8,640 1,920
308 XXM SO A 10,560 8,640 1,920
01 HIXNHHNBNEES 10,560 8,640 1,920
OXIoHetR #2229z XA 10,560
KO-l ASHEAY 5,985 6,930 A 945




2N
X ZH -
L= B
el

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
308 XXM SO0 A 5,985 6,930 A 945
01 AXNSGHBLAEES 5,985 6,930 A 945
OXI=o ASHY HHalZXIl 22X 5,985
s|HEEA o224 XNA(=21) 1,267,585 1,267,585 0
| 1,056,321
< 211,264
308 XXM SOIA 1,267,585 1,267,585 0
| 1,056,321
< 211,264
01 IXNSHHBMNEES 1,267,585 1,267,585 0
OsHEEt 2=H XS 1,267,585
J| 1,056,321
< 211,264
gAY 2AZAIE (Z1) 2,918,832 2,590,963 327,869
= 2,434,861
= 483,971
308 XtXIEHHSOIA 2,918,832 2,590,963 327,869
= 2,434,861
= 483,971
01 HXNHHNBHELS 2,918,832 2,590,963 327,869
ogEAZ ALY 2,918,832
= 2,434,861
< 483,971
Motetxt 2ts At XT3 21,105 30,150 A 9,045
308 X EHSOIA 21,105 30,150 A9,045
01 AXNSGHBLAEES 21,105 30,150 A 9,045
o5 & gz283 N 21,105
203 23 11,000 11,000 0
201 LBt 11,000 11,000 0
01 At 22l 3,000 3,000 0
OR=23 2¢ 3,000
02 =24l 8,000 8,000 0
oR=2e %EY 8,000
S2NYE 2g XA (=21) 494,609 0 494,609
| 337,233
S 157,376
307 2Iztol ™ 224,822 0 224,822
| 112,411
< 112,411
02 It M AHE X 224,822 0 224,822
OS2SHYLE 2SN (ZIHUAL=SXNEH) 224,822
J| 112,411
< 112,411




A2
I s BAASAMHIA HZB
Ehelr AEOYR ZE2A2HA =Y (&2l &)

SN - EAEA) - MRAL

01
o

Off &t 24

=

M
2Hm
==
£l
Ol
0y

308 XM S0IH 269,787 0 269,787
Jl 224,822
44,965

n

01 AXHHBEES 269,787 0 269,787

SHYE 24 N2 269,787
224,822
44,965

hn <

o
>
I
ro
d
FﬂJ
>
0
J{J

153,600 0 153,600

128,000
25,600

oW

308 AHXIEHHMSO0IE 153,600 0 153,600

128,000
25,600

oy

01 HXHHBAEES 153,600 0 153,600
OZd & Xz8l XN 163,600

128,000
25,600

W

NAEAAY At 22 A2 WSME (=1 17,640 0 17,640
)

Il 17,640

308 NHXIEHMSO0IE 17,640 0 17,640
Jl 17,640

01 AXSHHBaEx

=
OXS EAMY =AMl S

17,640 0 17,640

17,640
Jl 17,640

U5
ton
E
0
=]

Bl

04

AALSTMEH LAy N (21) 190,699 0 190,699
Il 168,917
31,782

H

308 MtXIEHMSOIH 190,699 0 190,699

J| 158,917
< 31,782

01 HXHHBAEES 190,699 0 190,699
OZJAUAIIXNUE KA0TAE 21248 K& 190,699

Jl 168,917
31,782

H

8 =S FFH 4,431,465 4,972,154 A 540,689
2,275,519

14,501
2,141,445

REVY

>
O
0K
OfM
40
0z
e
o
oy
L?J

4,431,465 4,972,154 A 540,689
2,275,519

14,501
2,141,445

oA

O
I
O
Ha
40
0z
18
B
]
o

1,197,680 1,709,400 Ab11,720

10

202 o4 Hl 8,800 11,000 A2,200




2N
X ZH -
L= B

el

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 = LH 4 bl 8,800 11,000 A2,200
OAE ¥ SSAMEPL 22 =8 8,800
403 MHXISHE X201 E 1,188,880 1,698,400 A 509,520
01 *XSHMA=2EE 1,188,880 1,698,400 A 509,520
OAZ -SSR L SFME N& 1,188,880
QUHSSAMZTAIR 85 23 30,000 30,000 0
301 LEHF 30,000 30,000 0
12 J|EtE4 = 30,000 30,000 0
ZAES AH24 30,000
SSAMMH A =Fa 18,000 20,000 A 2,000
308 XXM S0 A 18,000 20,000 A 2,000
01 AXSHHBLEES 18,000 20,000 A 2,000
onE8d=ddal XA 18,000
MEE otdae(21) 6,000 6,000 0
= 3.000
< 3,000
202 o4l 1,000 1,000 0
= 500
< 500
01 = LH o4 1l 1,000 1,000 0
oRAMES &2 FX 1,000
=2 500
< 500
206 M= Hl 700 5,000 A 4,300
2 350
< 350
01 =8l 700 5,000 A 4,300
Ox=HZAL AT 700
= 350
< 350
308 XXIEtM S0 A 4,300 0 4,300
= 2,150
< 2,150
01 IXNHHBNEES 4,300 0 4,300
OSMEE £HAAN N 4.300
= 2,150
< 2,150
O2I0I2ARXAME & 29 (2D) 2,940,000 2,962,400 22,400
= 2,100,000
= 840,000
308 XX EHH SOl A 2,940,000 2,962,400 A 22,400
= 2,100,000
< 840,000




2N

= S o =
M MW gMEs M
Sl AR BE MBS (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 HIXNHHNBHNEES 2,940,000 2,962,400 A 22,400
OneolsAZelXNAdH 4XI2Y 2,940,000
= 2,100,000
< 840,000
SSSAAUXNEHE &EX - 2Y(=12) 70,000 70,000 0
= 50,000
< 20,000
308 XXIEHH SOl A 70,000 70,000 0
= 50,000
< 20,000
01 AXHHILEES 70,000 70,000 0
Oo3ssA2eNddH £X 22 70,000
= 50,000
= 20,000
OEloDIESAE deaed 22 (=21) 60,500 60,500 0
= 60,500
308 XX EHH SOl A 60,500 60,500 0
= 60,500
01 HXNHHBHEES 60,500 60,500 0
oxgzeld 2 60,500
= 60,500
XA JI=9dze XN (22)(NY) 47,850 50,226 A2,376
= 23,925
< 23,925
201 LB-2E| 2,694 2,694 0
= 1,347
= 1,347
02 =224l 2,694 2,694 0
OADIE AZFEEZ S8Y SHRD 2,694
= 1,347
< 1,347
202 oddl 36,156 38,532 A2,376
= 18,078
< 18,078
01 = LH 4 1l 36,156 38,532 A2,376
oOgs(sg)ts 2Y 36,156
= 18,078
< 18,078
206 TH 2 Hl 9,000 9,000 0
2 4,500
< 4,500
01 M= 4l 9,000 9,000 0
=AM A2 9,000
= 4,500
< 4,500




2N
X ZH -
L= B

el

SN ZH-S(SA) - HRAY - B il HlnE2

ANXA Jlz=<d2e N (=21) 29,254 29,254 0
= 29,254

308 XXX SO0 A 29,254 29,254 0
= 29,254

01 AXSHBAELS 29,254 29,254 0
OALLE AZotdze Sg2d 29 17,054
= 17,054
OAILINH 2ZAE ES 12,200
= 12,200

SHAYSEHI| 2 0l 2AR =3 FHl X2( 14,501 16,694 A2,193
s 14,501

201 Let24d] 11,032 11,032 0
s 11,032

01 At 22/l 11,032 11,032 0
ORd=&E otd2e =& 11,032
as 11,032

202 O4dl 720 960 A 240
s 720

01 =2 LHAYI 720 960 A 240
OAZAAE HH=H =& 720
s 720

206 M= Hl 2,749 4,702 A 1,953
s 2,749

01 M= 8l 2,749 4,702 A 1,953
OalZoatsE H M=l 2,749
s 2,749

st S AEFl ZsH(=AHl, ZAHN)(22) 17,680 17,680 0
= 8,840
< 8,840

202 o4l 1,180 1,180 0
= 590
< 590

01 = LH YI 1,180 1,180 0
OHZISAE =N 1,180
= 590
< 590

206 M= Hl 16,500 16,500 0
= 8,250
< 8,250

01 =8l 16,500 16,500 0
OCAdLIIsAS M =HHl 16,500
= 8,250
< 8,250

i QAL (BAAM I =) 117,104 0 117,104




FA: BARAMEZ A
HE: HYSYAH (BAAYT D)
Sel: o2y (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Il 19,421
< 97,683
ol 2 gl 77,558 77,558
| 19,421
< 58,137
KNS A SSALSTIAE(212) 38,842 38,842
| 19,421
< 19,421
101 14 Hl 38,842 38,842
| 19,421
< 19,421
03 RIAHAZ 2T E += 38,842 38,842
oJe= 26,994
| 13,497
< 13,497
o824 2,250
| 1,125
= 1,125
OAZIZESE 2,469
| 1,235
< 1,234
O¢XRESFII=E 915
| 457
< 458
O=Atl 1,680
| 840
< 840
O &l 1,200
| 600
< 600
OZ & F Ol 2,250
| 1,125
< 1,125
ONBELL(RLIE) 480
| 240
< 240
O=L0 bl 604
| 302
< 302
AIESM RIS QY 38,716 38,716
101 @124 dl 38,716 38,716
03 RIAHAZ 2B+ 38,716 38,716
oJez(11ss) 26,334
o824 1,537
NHEEERS= 4,176
CIP RS ESIENE 1,114
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